E 0l &

Ab & & Al A

- SRI(BH) - MIRAIY - BES Oi &koK JE N Hlws2
74,069,545 67,848,948 6,220,597
= 2,125,788 3,086, 100 A960,312
£ 820,000 20,000 800,000
== 3,390,600 3,334,350 56,250
X 390,000 150,000 240,000
o 67,343,157 61,258,498 6,084,659
22,892,216 18,754,216 4,138,000
BN 330,000 150,000 180,000
i 22,562,216 18,604,216 3,958,000
SN2 317,017 417,017 100,000
=, S a2 317,017 417,017 100,000
401 AIEBIZL S008I 200,000 300,000 100,000
01 Al&Hl 200,000 300,000 100,000
Onl=sXl 242 40Z X|%5,000,000 200,000 300,000 A 100,000
K SIHLAtS 22,575,199 18,337,199 4,238,000
= 330,000 150,000 180,000
= 22,245,199 18,187,199 4,058,000
K GINLAIE F=E 49,280 39,280 10,000
201 23| 49,280 39,280 10,000
01 At22teld| 49,280 39,280 10,000
OESHHESRA fIEUSE
500,000 %40 Q1% 40,000 30,000 10,000
AP0 (ZAIE) 7,831,600 6,656,600 1,175,000
401 AIEBIZL S008I 7,831,600 6,656,600 1,175,000
01 Al&H| 7,815,000 6,640,000 1,175,000
OADI0tE 21EF THItE S AL
180,000,000 180,000 130,000 50,000
OXIZ(HIZ)0tE R3T2 HEBA
150,000,000 150,000 0 150,000
O8ZF JHDIZ =2 SEZEIA
500,000,000 500,000 0 500,000
OTAHOE =X ZE Z43At
180,000, 000& 180,000 0 180,000
OUW=R0tS U=SHEE Z&83AM
60,000,000 60,000 0 60,000
OXZLIS U=SHEE ZE3M
55,000,0002! 55,000 0 55,000
O (MY ez SEEIZAL
200,000,000 200,000 0 200,000
OusElls U=3HEEY ZEIA
60,000,000 60,000 0 60,000
OZHEDIE oF OIABTM RIS AL
100,000, 000& 100,000 0 100,000
OSHits ot OtAE TM RIS AL
100,000,000 100,000 150,000 A50,000
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2AM:
X{XH -
o e

chel:

b
ForX| e

KIS IHEALS

SA-ZH - SA(3) - MRAY - BAS Oi &roH JE N Hlws2
OJHHl(20hH I8 USAZE X4AY
0& 0 130,000 130,000
MEFO=RAAS 1,333,883 1,083,888 250,000
401 A &EHIZL LY 1,333,883 1,083,888 250,000
01 Al&H| 1,330,000 1,080,000 250,000
O02ILHOtE ot OtAE MEES A
100,000,000 100,000 0 100,000
OUi==0t= M& ZHISA
100,000,000 100,000 0 100,000
O230ts o2 SUHEBISA
50,000,000 50,000 0 50,000
AHE==0l=2 AL 1,004,694 749,694 255,000
401 AIEBIZL 08| 1,004,694 749,694 255,000
01 Al&H| 1,000,000 745,000 255,000
Oad AUL0IE s2 Z& SAt
45,000,000 45,000 0 45,000
OMZE(EE) 2ISAH 70,000,000 70,000 0 70,000
O&gerd ZHISA 20,000,000& 20,000 0 20,000
ORL=Z HUISAH 35,000,000& 35,000 0 35,000
O&ZE(5tE) 8+ ZHISA
40,000, 000& 40,000 0 40,000
Otlllsg ZE&BA 25,000,0002! 25,000 0 25,000
Oz22Y =2 HUISAt
20,000,000 20,000 0 20,000
LEF0I=RALY 1,181,058 1,131,058 50,000
401 AIEBIZL S008I 1,181,058 1,131,058 50,000
01 A&t 1,177,000 1,127,000 50,000
OSEHB 2 =2 SETIA}
50,000, 000& 50,000 0 50,000
ME=0I=RIALY 1,160,118 977,118 183,000
401 Al &EHIZL LY 1,160,118 977,118 183,000
01 Al&Hl 1,154,000 971,000 183,000
O2==0t= or2 OtAE EEIA
83,000,000& 83,000 0 83,000
OZHOIE TUZZ 0AE EEBA
100,000,000 100,000 0 100,000
SNFLU=RAY 950,009 800,009 150,000
401 AIEBIZL 08| 950,009 800,009 150,000
01 A&l 945,000 795,000 150,000
OFA H= A2 SLEZSA
150,000, 000& 150,000 0 150,000
AEFOU=RANS 1,383,672 1,023,672 360,000
401 Al &HIZL LY 1,383,672 1,023,672 360,000
01 Al&H| 1,380,000 1,020,000 360,000
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S A
HE: FOUX| W
Sl XISiHAY

S - BB SRA(SIH) - HIRAY - BES ol &y ol F o blRE2
O=d0= 0= 1 SuSA
30,000,002 30,000 0 30,000
ORY 9IR 012 HEINTA
80,000,002 80,000 0 80,000
OBFOS Y4B 2T
30,000,002 30,000 0 30,000
OYNOIS 52 ABBA
45,000,002 45,000 0 45,000
OHsHOrS o FHIZA
20,000,002 20,000 0 20,000
ONEDIS 912 THTA
40,000,002 40,000 0 40,000
OSROIE 52 TZTA
50,000,002 50,000 0 50,000
ONZOIE 52 TZBA
25,000,002 25,000 0 25,000
OBEOIS Hi42 FUISA
40,000,002 40,000 0 40,000
NEEEEENE 1,304, 140 1,164,140 50,000
401 AIEBIZECHY] 1,304, 140 1,164,140 50,000
01 AIZH] 7,300,000 7,150,000 50,000
OUCHOIS 9r2 OlAR EETA
80,000,002 80,000 0 80,000
Ouglle B 52 FHIBA
70,000,002 70,000 0 70,000
TSNS 1,929,235 1,459,235 470,000
401 AIEBIZ=0h] 1,929,235 1,459,235 470,000
0T A2 1,924,000 1,454,000 470,000
OIS (£S) WYZ HEYBA
150,000,002 150,000 0 150,000
OS2I0IS(FSH) W2 HTYBA
60,000,000 60,000 0 60,000
OXBOIE 212 OLARHMSI| BA}
50,000,002 50,000 0 50,000
OHLOIS 912! OLARHMSI| AL
50,000,002 50,000 0 50,000
OXITHOIS BH42 FHIBA
60,000,0002! 60,000 0 60,000
ONY0IS CISHBE TLBA
50,000,002 50,000 0 50,000
ORE0IE 52 OLARHMDI| B
50,000,002 50,000 0 50,000
AIOIERIEA AN 1,554,626 1,289,626 265,000
401 AIEBIZLECHY] 1,554,626 1,289,626 265,000
0T A2t 7,550,000 7,285,000 265,000
O+E0I2 QA THTA
100,000,000 100,000 0 100,000
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S A
HE: FOUX| W
Sl XISiHAY

S - B - S9(3H) - NRAY - BES ol &y ol o HimEE)
Ogsite s2 2 NME ZUISA
45,000,000 45,000 0 45,000
OdlotIS(20I1B)=2 L MEZHIZA
35,000,000& 35,000 0 35,000
OYS(SZ)0ts AZE=2 HEIA
40,000,000 40,000 0 40,000
OFE(HXB)0E =2 NWESA
45,000,000 45,000 0 45,000
MY F=0I=JAY 931,957 631,957 300,000
401 AlEHIZLROHY] 931,957 631,957 300,000
01 Al&HI 928,000 628,000 300,000
OIS ME SIHSA
90,000,000 90,000 0 90,000
OYHEOIE & =2 ZHIZSA
60,000,000 60,000 0 60,000
OMEZ(2=)0t2 =2 FHIZA
80,000,000 80,000 0 80,000
OHENES MUEZ SESA
70,000, 000& 70,000 0 70,000
ASFRU=SRAY 1,385,922 945,922 440,000
401 AlEHIZL 048I 1,385,922 945,922 440,000
01 Al&HI 1,380,000 940,000 440,000
OzelE s2 ZEZAM
45,000,000 45,000 0 45,000
OS4H0E ti==2 ZHISA
140,000,000 140,000 0 140,000
OYAOIE HIE ZHISA
95,000,000 95,000 0 95,000
O=diitE o2 =HZHIBA
50,000,000 50,000 0 50,000
OZA0E 2 ZEZA
30,000,000 30,000 0 30,000
SoliE0E JYZ2 FHIAY
80,000,000 80,000 0 80,000
AT XS & AIZALY 330,000 150,000 180,000
= 330,000 150,000 180,000
401 AlEHIZL 2048 330,000 150,000 180,000
x 330,000 150,000 180,000
01 Al&HI 330,000 150,000 180,000
2302 W= S22 ZHISA
30,000,000 30,000 30,000
x 30,000 30,000
OFtELIE Y2 IEHY AXISA
30,000,000 30,000 30,000
x 30,000 30,000
OUZ0tE ZEINE dUEZ HESA
30,000,000 30,000 0 30,000
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A A4
EESHEE S N

R KIS IOHEALA CEERD
SA-ZH - SA(3) - MRAY - BAS Oi &roH JE N Hlws2
X 30,000 0 30,000
OS2 MMB)0I2 =2 FHISA
30,000,000 30,000 0 30,000
X 30,000 0 30,000
Oud(FE)ors o & A= ZBISA
30,000,0002 30,000 0 30,000
BN 30,000 0 30,000
O=2U0ts o+ ZHISAt
30,000,000 30,000 0 30,000
BN 30,000 0 30,000
CRALMS 17,307,382 15,340,432 1,966,950
S 320,000 20,000 300,000
< 655,000 55,000 600,000
= 16,332,382 15,265,432 1,066,950
EE2HEAMS 547,276 540,326 6,950
= 20,000 20,000 0
== 55,000 55,000 0
o 472,276 465,326 6,950
e Nk 117,276 110,326 6,950
201 23| 35,978 33,978 2,000
01 At22teld| 24,245 22,245 2,000
OSa+HLHAE=E2E2)
2,000,000 2,000 0 2,000
405 KHAHE S| 10,000 5,050 4,950
01 AL =SS FHSHI 10,000 5,050 4,950
OAxIS =20t 7 5,800,000 5,800 850 4,950
sSHEZZ2HUIAIY 5,963,500 7,313,500 1,350,000
SHETZ FUIAIY 4,063,500 5,413,500 1,350,000
401 Al &EHIZL LY 4,063,500 5,413,500 A1,350,000
01 Al&Hl 4,050,000 5,400,000 1,350,000
OWL ~ 22Xt E2(2|=2055 6 ) B A B Al
(1XH2) 150,000, 000& 150,000 1,000,000 850,000
OXrer MEXR(2IE2108 6 ) T 2 E A B A}
100,000,000 100,000 600,000 A500,000
T HUIAIY 3,603,780 603,780 3,000,000
= 600,000 0 600,000
= 3,003,780 603,780 2,400,000
=& FHIAMY 403,780 603,780 /200,000
401 Al &EHIZL LY 403,780 603,780 /200,000
01 Al&Hl 400,000 600,000 200,000
O=ZE8a N £&0tS W2 LA
200,000,000 200,000 400,000 A200,000
e ADIXR AE T2 PTRINEAIS (M EHAL) 1,200,000 0 1,200,000
< 600,000 0 600,000
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M ALt
M S HLANY
Pl ZEFHIAY CEEE)
SA-ZH - SA(3) - MRAY - BAS Oi &roH JE N Hlws2
i 600,000 0 600,000
401 Al&HIZ2THY| 1,200,000 0 1,200,000
= 600,000 0 600,000
i 600,000 0 600,000
01 AlEH| 1,200,000 0 1,200,000
OXtet ADIXI7 82 PRHEA
1,200,000, 000 1,200,000 0 1,200,000
o= 600,000 0 600,000
o 600,000 0 600,000
CHotn = FEMERH OHH S} 2,000,000 0 2,000,000
401 AlEHIZL 048I 2,000,000 0 2,000,000
01 Al&Hl 2,000,000 0 2,000,000
OREAUSH(EERR) &2 SELEBA
2.,000,000,0002! 2,000,000 0 2,000,000
WEIIES JIEtE 2 A 6,992,826 6,682,826 310,000
£ 300,000 0 300,000
o 6,692,826 6,682,826 10,000
JIEt E2AH 10,000 0 10,000
401 Al&HIZL2THY| 10,000 0 10,000
01 Al&Hl 10,000 0 10,000
ONE0IES RS HEAIE AEHZ A}
10,000,000 10,000 0 10,000
TR0 (AR CHEXR) HHBLIA 300,000 0 300,000
£ 300,000 0 300,000
401 AlEHIZL 08I 300,000 0 300,000
S 300,000 0 300,000
01 AlEH| 300,000 0 300,000
OF =056 (A& EXT)EHHBABAK
HEH) 300,000,000& 300,000 0 300,000
S 300,000 0 300,000
ofd FH| 14,275,336 13,714,148 561,188
= 772,788 829,600 A56,812
£ 500,000 0 500,000
o= 1,588,500 1,644,500 256,000
EN 60,000 0 60,000
o 11,354,048 11,240,048 114,000
Xlgord 2t 4,922,382 4,631,194 291,188
= 737,788 794,600 A56,812
S 500,000 0 500,000
== 1,588,500 1,644,500 256,000
EN 60,000 0 60,000
i 2,036,094 2,192,094 156,000
X otE sz X 2e| A 398,000 510,000 A112,000
o= 199,000 255,000 256,000
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SA ALt
M ot FH|
el XgotE el (CH: & 21)
SA-ZH - SA(3) - MRAY - BAS Oi &roH JE N Hlws2
i 199,000 255,000 AB6,000
401 AIEBIZL S008I 398,000 510,000 A112,000
< 199,000 255,000 256,000
= 199,000 255,000 AB6,000
01 Al&HI 398,000 510,000 A112,000
OXleotd StEFH(ELE) Al
326,000,000 326,000 358,000 A32,000
== 163,000 179,000 A16,000
i 163,000 179,000 /16,000
OXlgota EXIE HU|AIS o 0 2,000 A2,000
== 0 1,000 A1,000
= 0 1,000 A1,000
OXotd SXl2elArd 60,000,0002 60,000 150,000 290,000
< 30,000 75,000 245,000
= 30,000 75,000 A45,000
OotEE sHEZ2 SQUXHAIE SXIAIS
12,000,0002 12,000 0 12,000
== 6,000 0 6,000
= 6,000 0 6,000
2IIGIER X B4=(401220) 437,788 494,600 256,812
= 437,788 494,600 256,812
401 Al EHIZL LY 437,788 494,600 A56,812
= 437,788 494,600 56,812
01 Al&Hl 437,788 494,600 256,812
O=Jt6td FXIZelArY
437,788,000 437,788 494,600 A56,812
= 437,788 494,600 A56,812
KIY5tE Al EHIAIS 991,917 1,091,917 100,000
401 AIEBIZL 08| 991,917 1,091,917 100,000
01 A&l 988,000 1,088,000 100,000
OXgstd DI2EX 243 X2
100,000,000 100,000 200,000 100,000
212 SSAIE HA OS2 2 EHISA 500,000 0 500,000
S 500,000 0 500,000
401 AIEBIZL S008I 500,000 0 500,000
S 500,000 0 500,000
01 Al&Hl 500,000 0 500,000
OATE SSAIE M OS82 JUlS
A(HEH) 500,000,000& 500,000 0 500,000
£ 500,000 0 500,000
CAHR(ZEEXF) 22l 8XI3A 30,000 0 30,000
BN 30,000 0 30,000
401 Al &EHIZL LY 30,000 0 30,000
X 30,000 0 30,000
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2AM:

S 6+§ esfa]
chelr XIgoka 2tel 2 %)
SA-ZH - SA(3) - MRAY - BAS Oi &roH JE N Hlws2
01 Al&Hl 30,000 0 30,000
OSAHHE (HEXI7) 2ACH] EXISA
30,000,000& 30,000 0 30,000
X 30,000 0 30,000
A=2d UXE AXISA 30,000 0 30,000
X 30,000 0 30,000
401 AEHIZLSLOHY] 30,000 0 30,000
BN 30,000 0 30,000
01 Al&Hl 30,000 0 30,000
OY=&® YUXE EXISAt
30,000,000& 30,000 0 30,000
BN 30,000 0 30,000
EaYelFS RN REral| 7,609,624 7,339,624 270,000
= 35,000 35,000 0
i 7,574,624 7,304,624 270,000
ENYo FSECYNRE Rl PN dos! 2,930,544 2,660,544 270,000
401 AEHIZL O] 2,930,544 2,660,544 270,000
01 Al&Hl 2,921,000 2,651,000 270,000
Otz ZIta! Aote HUISA
200,000,000 200,000 0 200,000
OLXl B=2d =HA EXSBA
70,000,000 70,000 0 70,000
S |BHEHIAY 17,036,472 15,986,972 ,049,500
= 96,000 0 96,000
== 518,600 506,600 12,000
i 16,421,872 15,480,372 941,500
AIIBHEHIALS 990,461 870,461 120,000
= 96,000 0 96,000
== 518,600 506,600 12,000
i 375,861 363,861 12,000
JtSHEl AL 120,000 0 120,000
= 96,000 0 96,000
= 12,000 0 12,000
i 12,000 0 12,000
401 AlZHIZL 20| 120,000 0 120,000
= 96,000 0 96,000
< 12,000 0 12,000
i 12,000 0 12,000
01 Al&H| 120,000 0 120,000
OISt 2 AL 120,000,000 120,000 0 120,000
= 96,000 0 96,000
< 12,000 0 12,000
i 12,000 0 12,000
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2AX:
PAELY
S

Faf=i,
SEIIBHEHIAE
SIIBHEHIAY

SA-ZH - SA(3) - MRAY - BAS Oi &roH JE N Hlws2
o%*)jla HU(SXSXR)-Al2=elAIENE (X2 0 400,000 400,000
A
== 0 344,000 344,000
= 0 56,000 AB6,000
401 Al EHIZL LY 0 400,000 400,000
< 0 344,000 A344,000
= 0 56,000 56,000
01 Al&H| 0 400,000 400,000
O=SNESMHa=X HESSA o 0 400,000 400,000
< 0 344,000 A344,000
= 0 56,000 56,000
osoz.*jlaF SHU(BBXR)-A22lAIEINE 4= (HBHAL 400,000 0 400,000
[oF]
== 344,000 0 344,000
o 56,000 0 56,000
401 Al &HIZL LY 400,000 0 400,000
< 344,000 0 344,000
i 56,000 0 56,000
01 A&l 400,000 0 400,000
OB M=K HES=SAt
400,000,000 400,000 0 400,000
< 344,000 0 344,000
o 56,000 0 56,000
SAIPAIE SRIZe|ArY 2,475,506 2,436,006 39,500
2| Fe|AESRRIZe| ALY 1,295,506 1,256,006 39,500
401 Al &EHIZL LY 1,295,506 1,256,006 39,500
01 Al 1,291,000 1,251,500 39,500
O=sgs82E LAY 39,500,0002 39,500 0 39,500
=Z0Igh =RI=SRAY 8,352,000 7,462,000 890,000
S8 =0I=RIALY 3,809,473 2,919,473 890,000
401 AIEBIZL 08| 3,809,473 2,919,473 890,000
01 Al&H| 3,799,000 2,909,000 890,000
O2=0ts 22 Sti+=2 HUISAt
150,000,000 150,000 0 150,000
OZ&0ls 82 HUISA
135,000,000 135,000 135,000
Oalliti==2 EHISA 50,000,000& 50,000 50,000
OE AUZ a2 HUISA
100,000,000 100,000 0 100,000
O=2E0I2 Sti+=2 HUIBA
190,000,000 190,000 0 190,000
OUZE-2F J|HSEEZ OtAE EEIAL
50,000,000 50,000 0 50,000
OBIE(MEIC)XIF StH=Z FHISA
125,000,000 125,000 0 125,000
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2AX:

.

Faf=i,
SYIIBHEHIA

Pl S8 FoI=RAY (S M)
SA-ZH - SA(3) - MRAY - BAS Oi &roH JE N Hlws2
O88its =2 EXISA
90,000,000 90,000 0 90,000
Mol & Mt =2+ =3 23t 2,514,000 4,013,000 1,499,000
= 1,257,000 2,256,500 999,500
< 628,500 1,128,250 A499,750
= 628,500 628,250 250
KHOH Oll 2 AFS 2,514,000 4,013,000 21,499,000
= 1,257,000 2,256,500 A999,500
o= 628,500 1,128,250 AN499,750
i 628,500 628,250 250
LS 2 AAMHRIEINE X R EBIALS 1,514,000 3,013,000 1,499,000
= 757,000 1,756,500 A999,500
== 378,500 878,250 AN499,750
i 378,500 378,250 250
401 Al &EHIZL LY 1,514,000 3,013,000 1,499,000
= 757,000 1,756,500 999,500
< 378,500 878,250 499,750
i 378,500 378,250 250
01 Al&H| 1,514,000 3,013,000 21,499,000
OXATHANRIE IHEXP2EE(LEEXITF)
1,514,000,000 1,514,000 3,013,000 1,499,000
= 757,000 1,756,500 A999,500
< 378,500 878,250 A499,750
i 378,500 378,250 250
MRS (&0 3,959 0 3,959
SEXNE 3,959 0 3,959
2x3 BeEls 3,959 0 3,959
802 Btat=DIEt 3,959 0 3,959
01 2 NEXZEHEZ 888 0 8838
020223 2IIGIERRIZ2 =AM O KHA4oH
887,070& 888 0 888
02 Al - SHIBESEEZ 3,071 0 3,071
02023 ASZYUEZ UZHSEHIX|E XA
e ZeHAkoH 101,000& 101 0 101
OJ2| U WSOHMAIZAIE (SIEWXIZ
AX) A 358,000 358 0 358
O2023 S FDIECI 0l AFALRY EIEBHERH (O|XF
=y 11,1502 112 0 112
O=IIBAIE T EH(0IRIELE)
2,500,000 2,500 0 2,500
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